BID ANALYSIS

TOWN OF WESTERLY

Athletic Fields Maintenance

Bid Number: 2020-019	At Opening:	
Prepared by: M. Bednarski		
DATE: 3/3/2020		

					PRESCRIPTION TURF		EH Turf Fairplay Services		Shoreline Lawn Sprinkler	
	LOCATION	DESCRIPTION	ITEM	Unit	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Westerly Middle	Fertilization	Α	6	\$380.00	\$2,280.00	\$800.00	\$4,800.00	\$650.00	\$3,900.00
	Soccer Field	Aeration	В	1	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
		Topdressing	С	1	\$1,100.00	\$1,100.00	\$2,352.24	\$2,352.24	\$110.00	\$110.00
		Over seeding	D	1	\$625.00	\$625.00	\$1,452.00	\$1,452.00	\$20.00	\$20.00
		Herbicides	Е	1	\$700.00	\$700.00	\$1,500.00	\$1,500.00	\$0.00	\$0.00
	OPTIONAL	Mowing	F	1	\$55.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			TOTAL			\$5,305.00		\$11,104.24		\$5,030.00
-	Westerly Middle	Fertilization	Λ	6	\$475.00	\$2,850.00	\$1,000.00	\$6,000.00	\$810.00	\$4,860.00
	Baseball Field		A B	1					1	
	Daseball Fleiu	Aeration	С	1	\$600.00	\$600.00	\$1,250.00 \$2,940.30	\$1,250.00 \$2,940.30	\$1,250.00	\$1,250.00 \$140.00
		Topdressing Over seeding	D	1	\$1,100.00	\$1,100.00 \$625.00			\$110.00	\$110.00
				1	\$625.00	*	\$1,815.00	\$1,815.00	\$20.00	\$20.00
	ODTIONAL	Herbicides	D	<u> </u>	\$700.00	\$700.00	\$1,875.00	\$1,875.00	\$0.00	\$0.00
	OPTIONAL	Mowing	E	1	\$55.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			TOTAL			\$5,875.00		\$13,880.30		\$6,240.00
.3	Craig Field	Fertilization	Α	6	\$380.00	\$2,280.00	\$800.00	\$4,800.00	\$650.00	\$3,900.00
Ť	9 10 0	Aeration	В	1	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
		Topdressing	C	1	\$1,100.00	\$1,100.00	\$2,352.24	\$2,352.24	\$110.00	\$110.00
		Over seeding	D	1	\$625.00	\$625.00	\$1,452.00	\$1,452.00	\$20.00	\$20.00
		Herbicides	E	1	\$700.00	\$700.00	\$1,500.00	\$1,500.00	\$0.00	\$0.00
	OPTIONAL	Mowing	F	1	\$55.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		3	TOTAL		,	\$5,305.00	, ,	\$11,104.24	, ,	\$6,030.00
4	Craig Field	Fertilization	Α	6	NO	\$0.00	\$166.00	\$996.00	\$100.00	\$600.00
	Outside Fence	Aeration	В	1	CHARGE	\$0.00	\$286.00	\$286.00	\$280.00	\$280.00
		Topdressing	С	1		\$0.00	\$486.00	\$486.00	\$110.00	\$53,460.00
		Over seeding	D	1		\$0.00	\$300.00	\$300.00	\$20.00	\$20.00
		Herbicides	D	1		\$0.00	\$310.00	\$310.00	\$0.00	\$0.00
	OPTIONAL	Mowing	Е	1		\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			TOTAL			\$0.00		\$2,378.00		\$54,360.00

5 Gingerella Field	Fertilization	Α	6	\$1,520.00	\$9,120.00	\$3,000.00	\$18,000.00	\$1,800.00	\$10,800.00
	Aeration	В	1	\$600.00	\$600.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
	Topdressing	С	1	\$1,100.00	\$1,100.00	\$9,408.96	\$9,408.96	\$110.00	\$110.00
	Over seeding	D	1	\$625.00	\$625.00	\$5,808.00	\$5,808.00	\$20.00	\$20.00
	Herbicides	Е	1	\$700.00	\$700.00	\$6,000.00	\$6,000.00	\$0.00	\$0.00
OPTIONAL	Mowing	F	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		TOTAL			\$12,145.00		\$43,216.96		\$14,930.00
6 Cimalore Field	Fertilization	Α	6	\$1,140.00	\$6,840.00	\$2,400.00	\$14,400.00	\$1,750.00	\$10,500.00
	Aeration	В	1	\$600.00	\$600.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
	Topdressing	С	1	\$1,125.00	\$1,125.00	\$7,056.00	\$7,056.00	\$110.00	\$110.00
	Over seeding	D	1	\$625.00	\$625.00	\$4,356.00	\$4,356.00	\$20.00	\$20.00
	Herbicides	Е	1	\$700.00	\$700.00	\$4,500.00	\$4,500.00	\$0.00	\$0.00
OPTIONAL	Mowing	F	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		TOTAL			\$9,890.00		\$33,312.00		\$13,630.00
7 Westerly High	Fertilization	Α	6	\$380.00	\$2,280.00	\$800.00	\$4,800.00	\$650.00	\$3,900.00
Augeri Field	Aeration	В	1	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	Topdressing	С	1	\$1,100.00	\$1,100.00	\$2,352.00	\$2,352.00	\$110.00	\$110.00
	Over seeding	D	1	\$625.00	\$625.00	\$1,452.00	\$1,452.00	\$20.00	\$20.00
	Herbicides	Е	1	\$700.00	\$700.00	\$1,500.00	\$1,500.00	\$0.00	\$0.00
OPTIONAL	Mowing	F	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		TOTAL			\$5,305.00		\$11,104.00		\$5,030.00
Bradford Estates	Fertilization	Α	6	\$1,330.00	\$7,980.00	\$2,625.00	\$15,750.00	\$2,275.00	\$13,650.00
	Aeration	В	1	\$600.00	\$600.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
	Topdressing	С	1	\$1,100.00	\$1,100.00	\$8,232.00	\$8,232.00	\$110.00	\$110.00
	Over Seeding	D	1	\$625.00	\$625.00	\$5,082.00	\$5,082.00	\$20.00	\$20.00
	Herbicides	Е	1	\$700.00	\$700.00	\$5,250.00	\$5,250.00	\$0.00	\$0.00
OPTIONAL	Mowing	F	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		TOTAL			\$11,005.00				\$17,280.00
8 Westerly High	Fertilization	А	6	\$475.00	\$2,850.00	\$1,000.00	\$6,000.00	\$815.00	\$4,890.00
QUAD	Aeration	В	1	\$600.00	\$600.00	\$1,250.00	\$1,250.00	\$1,250.00	\$1,250.00
	Topdressing	С	1	\$1,100.00	\$1,100.00	\$2,940.30	\$2,940.30	\$110.00	\$110.00
	Over seeding	D	1	\$625.00	\$625.00	\$1,815.00	\$1,815.00	\$20.00	\$20.00
	Herbicides	Е	1	\$700.00	\$700.00	\$1,875.00	\$1,875.00	\$0.00	\$0.00
		+	 						
OPTIONAL	Mowing	F	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
OPTIONAL	Mowing	F TOTAL	1	\$0.00	\$0.00 \$5,875.00	\$0.00	\$0.00	\$0.00	\$6,270.00

9	Railroad Station	Fertilization	А	6	\$62.50	\$375.00	\$100.00	\$600.00	\$60.00	\$360.00
		Aeration	В	1	\$150.00	\$150.00	\$175.00	\$175.00	\$200.00	\$200.00
		Topdressing	С	1	\$1,100.00	\$1,100.00	\$270.00	\$270.00	\$110.00	\$110.00
		Over seeding	D	1	\$625.00	\$625.00	\$167.00	\$167.00	\$20.00	\$20.00
		Herbicides	Е	1	\$700.00	\$700.00	\$175.00	\$175.00	\$0.00	\$0.00
	OPTIONAL	Mowing	F	1	\$55.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			TOTAL			\$2,950.00		\$1,387.00		\$690.00
10	Adult Day Care	Fertilization	А	6	\$250.00	\$1,500.00	\$50.00	\$300.00	\$35.00	\$210.00
	PACE	Aeration	В	1	\$150.00	\$150.00	\$50.00	\$50.00	\$150.00	\$150.00
		Topdressing	С	1	\$1,100.00	\$1,100.00	\$54.00	\$54.00	\$110.00	\$110.00
		Over seeding	D	1	\$625.00	\$625.00	\$33.33	\$33.33	\$20.00	\$20.00
		Herbicides	Е	1	\$700.00	\$700.00	\$50.00	\$50.00	\$0.00	\$0.00
	OPTIONAL	Mowing	F	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			TOTAL			\$4,075.00		\$487.33		\$490.00
11	Rotary Park	Fertilization	Α	6	\$300.00	\$1,800.00	\$600.00	\$3,600.00	\$275.00	\$1,650.00
		Aeration	В	1	\$300.00	\$300.00	\$1,050.00	\$1,050.00	\$750.00	\$750.00
		Topdressing	С	1	\$500.00	\$500.00	\$1,746.18	\$1,746.18	\$110.00	\$110.00
		Over seeding	D	1	\$625.00	\$625.00	\$1,089.00	\$1,089.00	\$20.00	\$20.00
		Herbicides	Е	1	\$350.00	\$350.00	\$1,125.00	\$1,125.00	\$0.00	\$0.00
	OPTIONAL	Mowing	F	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			TOTAL			\$3,575.00		\$8,610.18		\$2,530.00
12	Police Station	Fertilization	Α	6	\$200.00	\$1,200.00	\$440.00	\$2,640.00	\$200.00	\$1,200.00
		Aeration	В	1	\$300.00	\$300.00	\$770.00	\$770.00	\$500.00	\$500.00
		Topdressing	С	1	\$500.00	\$500.00	\$1,293.73	\$1,293.73	\$110.00	\$110.00
		Over seeding	D	1	\$625.00	\$625.00	\$798.60	\$798.60	\$20.00	\$20.00
		Herbicides	Е	1	\$350.00	\$350.00	\$825.00	\$825.00	\$0.00	\$0.00
	OPTIONAL	Mowing	F	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			TOTAL			\$2,975.00		\$6,327.33		\$1,830.00
13	DPW & Animal	Fertilization	Α	6	\$200.00	\$1,200.00	\$468.00	\$2,808.00	\$225.00	\$1,350.00
	Control	Aeration	В	1	\$300.00	\$300.00	\$819.00	\$819.00	\$500.00	\$500.00
		Topdressing	С	1	\$500.00	\$500.00	\$1,376.06	\$1,376.06	\$110.00	\$110.00
		0	D	1	\$625.00	\$625.00	\$849.42	\$849.42	\$20.00	\$20.00
		Over seeding	U	'	Ψ020.00	T			·	
		Herbicides	E	1	\$350.00	\$350.00	\$877.50	\$877.50	\$0.00	\$0.00
	OPTIONAL							\$877.50 \$0.00		\$0.00 \$0.00
	OPTIONAL	Herbicides	Е	1	\$350.00	\$350.00	\$877.50		\$0.00	

War Memorial Paw	Fertilization	Α	6	\$200.00	\$1,200.00	\$65.00	\$390.00	\$35.00	\$210.00
Bridge	Aeration	В	1	\$300.00	\$300.00	\$65.00	\$65.00	\$150.00	\$150.00
	Topdressing	С	1	\$500.00	\$500.00	\$105.95	\$105.95	\$110.00	\$110.00
	Over seeding	D	1	\$625.00	\$625.00	\$65.34	\$65.34	\$20.00	\$20.00
	Herbicides	Е	1	\$350.00	\$350.00	\$69.00	\$69.00	\$0.00	\$0.00
OPTIONAL	Mowing	F	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
		TOTAL			\$2,975.00		\$695.29		\$490.00
			_	GRAND TOTAL	\$80,230.00	GRAND TOTAL	\$164,217.15	GRAND TOTAL	\$119,530.00

Digital Copy		YES	YES	YES
Signed Appendix A		YES	YES	YES
Start Date		21 DAYS	1 WEEK	
Exclusions		NO	NO	SEE BID
Deviated From Spec		NO	NO	SEE BID
Acknowledge Addendum #1		YES	YES	YES
EMR RATING		1.00	1.00	0.82
Signed our Bid Form		YES	YES	YES

HOURLY RATES	STRAIGHT	O/T	STRAIGHT	O/T	STRAIGHT	O/T
1 Landscaper per Hour	\$50.00	\$75.00	\$76.00	\$114.00	NO	BID
2 Helper per Hour	\$50.00	\$75.00	\$76.00	\$114.00	NO	BID
3 Machine Operator per Hour	\$50.00	\$75.00	\$82.00	\$123.00	NO	BID
4 Helper (if required) per Hour	\$50.00	\$75.00	\$76.00	\$114.00	NO	BID
5						